RO (3 A @i, NETRIE(310,100,1000)

w4 HH1: i/
6.656 x 10 = 4.044 x 1000 =
1.34 x 1000 = 4.839 x 100 =
10.11 x 100 = 6.998 x 10 =
5.447 x 100 = 7.295 x 10 =
9.064 x 1000 = 6.089 x 10 =
2.897 x 10 = 6.754 x 1000 =
9.986 x 100 = 8.7 %1000 =
4.771 x 1000 = 2342 x 10 =
1.582 x 100 = 10.119 x 100 =
8.92 x 1000 = 7.225 x 1000 =
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/INER2:(3€10,100,1000)

4 H391: i O
6.656 x 10 = 66.56 4.044 % 1000 = 4044
1.34 x 1000 = 1340 4.839 x 100 = 483.9
10.11 x 100 = 1011 6.998 x 10 = 69.98
5.447 x 100 = 544.7 7.295 x 10 = 72.95
9.064 x 1000 = 9064 6.089 x 10 = 60.89
2.897 x 10 = 28.97 6.754 x 1000 = 6754
9.986 x 100 = 998.6 8.7 x 1000 = 8700
4.771 x 1000 = 4771 2.342 x 10 = 2342
1.582 x 100 = 158.2 10.119 x 100 = 1011.9
8.92 x 1000 = 8920 7.225 x 1000 = 7225
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